

Production of Electricity using Solar Cell at 6.0 Volts

Wadhekar Sujata, Shaikh Tuba Aslam, Pathare Subham, Baliram Lone*

Department of Physics, Vinayakrao Patil Mahavidyalaya Vaijapur, Dist. Aurangabad, Maharashtra, India

ABSTRACT

Article Info

Publication Issue : Volume 10, Issue 1 January-February-2023 Page Number : 160-165

Article History

Accepted : 10 Jan 2023 Published: 29 Jan 2023 The Sun is the only planet which enables to produce light in tremendous amount. It is utilized to cater the need of our energy by means of converting light energy into electrical energy. The Sun is naturally a source of heat energy by using the fission process inside it, enabling it to generate vast amounts of heat energy. We used the solar panel or photovoltaic (PV) panels on which surface the sun light falls after successfully falling on its surface the solar (Photon) energy converts into electrical energy i.e., photon conversion into electrical energy. The generated electricity can be stored in batteries or it can be utilized directly. Our previous work entitled production of electricity using solar cell, International Journal for Research in Applied Science & Engineering Technology (IJRASET) Vol.9 issue VIII, Aug. 2021 pp548-552, using solar panel at small scale approximately 2.4 Volts.

In our present investigation we are able to produce electricity upto 6.0 Volts and maximum power 36.04 Watts. Moreover, we planned to design it for large scale production of solar energy using large sized photovoltaic panels.

Keywords : Solar Energy, Photons, Sunlight, Photons, Photovoltaic Panels.

I. INTRODUCTION

Growing global population, industrialization the demand of energy per capita increased continuously [1-6]. The suitable solution to overcome on the energy crisis is solar energy. A solar energy is available naturally and there is no environmental pollution as well [7-9].

Solar energy utilized to generate electricity using solar cells or panels. This acts as source of renewable energy on the Earth. The solar power play vital applications in various fields including solar electric power generation, industries, solar panel based running vehicles, space application and other numerous uses. The solar energy is considered as alternative energy source in the future [10].

Our primary source of clean, abundant energy is the sun. Solar energy is radiant light generated from the Sun that is harnessed utilizing a wide range of technologies including solar power to generate electricity [11], solar water heating, solar architecture [12]. The rotation of the sun is made evident by the

Copyright: © the author(s), publisher and licensee Technoscience Academy. This is an open-access article distributed under the terms of the Creative Commons Attribution Non-Commercial License, which permits unrestricted non-commercial use, distribution, and reproduction in any medium, provided the original work is properly cited



sunspots that cross the solar disk in about two weeks, then disappear, and then reappear at the opposite limb (or curved edge) two weeks later. The observations of the sun reveal that different parts of the Sun rotate at different speeds. The Sun, or luminosity, is 4 \times 10 26 watts. This is found by measurement of the solar constant, the energy received per square meter (1,360 watts/m²) by a surface perpendicular to the direction of the Sun at a distance of 1 astronomical unit and multiplying by the surface area of a sphere of radius 1 AU. The term *solar constant* implies a belief in a constant luminosity output for the Sun, but this may not be completely correct. The Maunder minimum, an era of very few detectable sunspots in the century after their discovery in 1610, suggests the solar sunspot cycle was not in operation at this time. Other evidence suggests the presence or lack of a solar cycle is related to changes in the solar luminosity output. Past ice ages of the Earth could be the result of a diminished solar luminosity output. Monitoring of the solar constant in the last decade from spacecraft suggests there are variations on the order of one-half percent. Thus, our Sun perhaps is not as constant a source of energy as was once believed [13].

The temperature of the solar "surface" (the photosphere) can be defined in several ways. Application of the Stefan-Boltzman Law (energy emitted per second per unit area = σT^4) yields a value of 5,800 K. Wien's law, which relates the peak intensity in the spectrum to the temperature of the emitting material yields T = 6,350 K. This discrepancy between the two values results for two reasons. First, the emitted light comes from different depths in the photosphere and thus is a mixture of emission characteristics of a range of temperatures; thus, the solar spectrum is not an ideal black body spectrum. Second, absorption features significantly alter the spectrum from the shape of a black body spectrum.

The strongest absorption features were first studied by Fraunhofer (1814) and are called **Fraunhofer lines**. Absorption lines from over 60 elements have been identified in the solar spectrum. Analysis of their strengths gives temperatures at different depths in the photosphere and chemical abundance ratios [14-15].

II. EXPERIMENTAL METHOD



Figure 1. (a) Battery 1.2 (b) solar panel or photovoltaic module or solar cell.

We installed the solar panel in front of department of Physics, in such a way that there is maximum sunlight falls on its surface so as to photoelectrons generates from the surface of solar panel and it stores in batteries.



Fig.2 (a)The solar related components mounted in wooden block as shown in fig.2a.

Figure 2(a) represents the all required components can be assembled in wooden box or block. First there is three slots are fitted to put 1.2 V five batteries to store generated electricity from sunlight. After that light energy-LED, sound energy-speaker, electromechanical energy-fan, electrical energy-volt meter were constructed in series as shown in above fig.2(a)



Fig.3 Experimental setup assembled and connected by B.Sc.T.Y.(optional Physics) students.

We studied the production of electricity using solar cells by means of connecting solar panel to its allied electrical components as shown in above figure 3. The five solar cells were fitted in three slots with capacity of 1.2 V each cell. The reported data for solar panel as shown in table 1.

III. RESULT AND DISCUSSION

The Sun

The energy that we receive from the Sun dictates the environment on Earth that is so important to humanity's existence. But to astronomers, the Sun is the only star that can be studied in great detail; thus, studying the sun is vital to the understanding of stars as a whole. In turn, the study of stars shows us that our Sun is merely an average star, neither exceptionally bright nor exceptionally faint. Evidence from other stars has also revealed their life histories, allowing us a better understanding of the part and future of our particular star [16-21].

The solar diameter equals 109 Earth diameters, or 1,390,000 kilometers. What we see when we look at the sun, however, is not a solid, luminous surface, but a spherical layer, called the photosphere, from which the bulk of the solar light comes (see Figure 4). Above the photosphere the solar atmosphere is transparent, allowing light to escape. Below the photosphere, the

physical conditions of the material of the solar interior prevent light from escaping. As a result, we cannot observe this interior region from the outside. The solar mass is equivalent to 330,000 earth masses, or 2×10^{30} kg, for a mean or average density (mass/volume) of 1.4 g/cm ³[22-27].

The solar cells or photovoltaic (PV) cells implies photo means light and voltaic means electricity. It converts directly sunlight into electricity. A module is a group of cells and electrically connected and packaged into frame called as solar panel as well.

The main feature of the solar cell is the voltage of the cell does not depend on the size of cells its constantly changing due to variations in light intensity. The current in device is directly proportional to light intensity.

Table 1: Experimental data from solar panel

Time in	Steady solar panel exposed in sunlight		
	Voltage	Current	Power (Watts)
Minutes	(Volts)	(Amperes)	
05	0.1	0.13	0.01
10	0.2	0.21	0.04
15	0.3	0.32	0.09
20	0.4	0.44	0.16
25	0.5	0.52	0.25
30	0.6	0.63	0.36
35	0.7	0.74	0.49
40	0.8	0.81	0.64
45	0.9	0.92	0.81
50	1.0	1.02	1.00
55	1.1	1.18	1.21
60	1.2	1.23	1.44
65	1.3	1.39	1.69
70	1.4	1.44	1.96
75	1.5	1.57	2.25
80	1.6	1.64	2.56
85	1.7	1.79	2.89
90	1.8	1.85	3.24
95	1.9	1.97	3.61
100	2.0	2.02	4.00



105	2.1	2.11	4.41
110	2.2	2.23	4.84
115	2.3	2.34	5.29
120	2.4	2.44	5.76
125	2.5	2.58	6.30
130	2.6	2.69	6.80
135	2.7	2.73	7.31
140	2.8	2.84	7.85
145	2.9	2.97	8.44
150	3.0	3.01	9.00
155	3.1	3.12	9.78
160	3.2	3.25	10.20
165	3.3	3.38	10.90
170	3.4	3.43	11.56
175	3.5	3.54	12.45
180	3.6	3.67	12.98
185	3.7	3.76	13.70
190	3.8	3.82	14.44
195	3.9	3.94	15.28
200	4.0	4.07	16.10
205	4.1	4.12	16.80
210	4.2	4.25	17.28
215	4.3	4.38	18.52
220	4.4	4.44	19.52
225	4.5	4.57	20.40
230	4.6	4.68	21.31
235	4.7	4.79	22.09
240	4.8	4.84	23.11
245	4.9	4.95	24.16
250	5.0	5.02	25.04
255	5.1	5.15	26.07
260	5.2	5.22	26.88
265	5.3	5.34	28.28
270	5.4	5.51	29.32
275	5.5	5.56	30.31
280	5.6	5.60	31.41
285	5.7	5.71	32.59
290	5.8	5.80	33.69
295	5.9	5.90	34.84
300	6.0	6.00	36.04

*Previously published data from voltage 0.1 to 2.4 Volts and current from 0.13 amperes to 2.44 amperes respectively.



Fig.4 The variation of time in minutes versus voltage in Volts.

The figure 4 indicates the plot of variation of time in minutes versus voltage in Volts obtained from solar panel when it is exposed to sunlight. There is continuous increase in voltage 1.3 volts after that there is sudden decrease 0.3 volts as shown in fig.4.Again it gradually increases 0.6 and onwards it suddenly increases 1.7 volts. After that continuous increase in voltage was observed upto 6.0 volts as shown in above plot 4.



Fig.5 The variation of time in minutes versus current in Amperes

The figure 5 shows the graph of variation of time in minutes versus current in Amperes obtained from solar PV panel when it is exposed to sunlight. There is continuous increase in current upto 6 amperes with variation of time upto 300 minutes as shown in above fig. 5.



Fig.6 The variation of time in minutes versus power in Watts

The figure 6 represents the plot of variation of time in minutes versus power in Watts, obtained from solar panel when it is exposed to sunlight. There is continuous increase in power from 0.01 Watts to 36.04 Watts as shown in above fig.6.

IV. CONCLUSION

We used the solar panel or photovoltaic (PV) panels on which surface the sun light falls after successfully falling on its surface the solar (Photon) energy converts into electrical energy. The generated electricity can be stored in batteries or it can be utilized directly. Reading data from solar panel shows that there is voltage and current initially increases after some time it decreases again it continuously increases. However, the power in Watts remains continuously increases. However, the solar panel continuously absorb the photons from sunlight and generates the electricity. The 1.2 Volts five batteries having total 6.0 Volts voltage developed in the assembled circuit with 6.0 Ampere current. The total power generated from 6.0 V is 36.04 Watts as shown in table 1. Also, the figures 4 and 6 confirms it respectively.

V. ACKNOWLEDGMENTS

We acknowledge University Grants Commission, New Delhi, India for providing financial support through STRIDE Component -I scheme. Grant details are File No. VPMV/SRP/STRIDE/2020-21/Phy/UG/B. G. Lone, Reference number: VPMV/2022-2023/STRIDE 1043-4 dated 11.07.2022, This work was designed and performed by B.Sc. third year students (2022-2023) in department of Physics, Vinayakrao Patil Mahavidyalaya, Vaijapur, Maharashtra, India.

VI. REFERENCES

- C.J. Winter, R.L. Sizmann, and L.L.Vant-Hull (Eds.), Solar Power Plants, Springer-Verlag (1991)
- [2]. Solar Energy Perspectives: Executive Summary . International Energy Agency,2011
- [3]. Th. Fend, O. Reutter, R. Pitz-Paal, B. Hoffschmidt, and J. Bauer, Two Novel High Porosity Materials as Volumetric Receivers for Concentrated Solar Radiation," Solar Energy Mater. Solar Cells 84(1–4), 291–304 (2004).
- [4]. R. Karde, B. Lone, Adsorption Energies Calculations of Hydrogen Storage on Cs Doped Graphene: ab initio Study, Int. Jou. of Res. and Analytical Review, 9 (2022), 2348-1269.
- [5]. S. Ali, B. Lone, Density Functional study of Cytosine adsorption on Mo Doped Graphene, VISTA Int. Journal on energy, env. And engi., 7, (2022), 15-21
- [6]. L. Fraas and B. McConnell, "High Power Density Photovoltaics," Renewable Energy World,5(5), 99-105 (2002).

164

- [7]. S. Möller, R. Buck, R. Tamme, M. Epstein, D. Liebermann, M. Meri, U. Fisher, A. Rotstein, and C. Sugarmen, "Solar Production of Syngas for Electricity Generation: SOLASYS Project Testphase,"
- [8]. M.A. Green, Third Generation Photovoltaics: Advanced Solar Energy Conversion. Springer-Verlag: Berlin, Germany (2004).
- [9]. N. Naki_cenovi_c, A. Grubler, A. McDonald, "Global energy perspectives", Cambridge: Cambridge University Press; (1998).
- [10]. Energy source https://www.energy.gov/solar
- [11]. Abderrezek, M., Fathi, M., 2017. Experimental study of the dust effect on photovoltaic panels' energy yield. Sol Energy 142, 308–320.
- [12]. B. Lone ,Mg Decorated Boron doped Graphene for Hydrogen Storage: A DFT Method, International Journal for Research in Applied Science & Engineering Technology,2020,8,181-190
- [13]. K. L. Chopra, P. D. Paulson, and V. Dutta, Prog. Photovolt: Res. Appl. 12, 69 (2004).
- [14]. R. Feynman, R. Leighton, and M. Sands, The Feynman Lectures on Physics, Vol. 1 (Addison-Wesley, Menlo Park, California, 1963) Chap. 4.
- [15]. L. Freris and D. Infield, Renewable Energy in Power Systems (John Wiley & Sons Inc, Chichester, United Kingdom, 2008).
- [16]. R.Karde,B.Lone , Adsorption Energies Calculations of Hydrogen Storage on Cs Doped Graphene: ab initio Study, International journal of Research and Analytical Reviews,2022.
- [17]. E. A. de la Breteque, Solar Energy 83, 1425 (2009).
- [18]. A. Chirila, P. Reinhard, F. Pianezzi, P. Bloesch, A. R. Uhl, C. Fella, L. Kranz, D. Keller, C. Gretener, H. Hagendorfer, D. Jaeger, R. Erni, S. Nishiwaki, S. Buecheler, and A. N. Tiwari, Nat. Mater. 12, 1107 (2013).
- [19]. A. Luque, A. Marti, and C. Stanley, Nat Photon 6, 146 (2012).

- [20]. D. E. Carlson and C. R. Wronski, Appl. Phys. Lett. 28, 671 (1976).
- [21]. O. E. Semonin, J. M. Luther, S. Choi, H.-Y. Chen, J. Gao, A. J. Nozik, and M. C. Beard, Science 334, 1530 (2011).
- [22]. N. Mohan, T. M. Undeland, and W. P. Robbins, Power Electronics:Converters, Applications, and Design (John Wiley & Sons Inc, Hoboken, NJ, 2003).
- [23]. D. L. King, S. Gonzalez, G. M. Galbraith, and W.
 E. Boyson, Performance Model for Grid-Connected Photovoltaic Inverters, Tech. Rep. SAND2007-5036 (Sandia National Laboratories, 2007).
- [24]. H. Vogel, Gerthsen Physik, 19th ed. (Springer-Verlag, Berlin, Germany, 1997).
- [25]. K. Jivrakh,A.Dahake, A. Muttalwad, B. Lone, Production of Electricity Using Solar Cells,2021,9,548-552.
- [26]. R.B.Karde,B.G.Lone,Hydrogen storage capacity on MO doped graphene: A DFT study,IJSRST,9 (16) 238-245(2022).
- [27]. K. Jivrakh, A. Dahake, A. Muttalwad, B. Lone, Study of Solar energy dependent determination of wavelength using LASER source,IJSRSET,9(4) 271-276,2022

Cite this article as :

Wadhekar Sujata, Shaikh Tuba Aslam, Pathare Subham, Baliram Lone, "Production of Electricity using Solar Cell at 6.0 Volts", International Journal of Scientific Research in Science, Engineering and Technology (IJSRSET), Online ISSN : 2394-4099, Print ISSN : 2395-1990, Volume 10 Issue 1, pp. 160-165, January-February 2023. Available at doi : https://doi.org/10.32628/IJSRSET2310131 Journal URL : https://ijsrset.com/IJSRSET2310131

